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May 24, 1917.

NEW BUSINESS TAX ACT.

HE business profits war tax act, which came iqto

force in 1916, will operate until 1918. Under its
provisions, incorporated companies were taxed 25

per cent. on net profits exceeding 7 per cent. upon
capital employed (throughout the accounting period) of
50,000, or over. The profits of a business owned other
than by an incorporated company, Were taxed 25 per cent.
on net profits exceeding 10 per cent.

also to businesses with capital

The taxation applies
ons to the extent of

less than $50,000 and making muniti
20 per cent. of their output.

The amendment to the act, introduced by Sir Thomas
White in the House on May 1st, 1917, changes the
fixed tax to a progressive one. A company’s profits up
to 7 per cent. are exempt. On profits from 8 per cent.
to 15 per cent. inclusive, 7 per cent. is exempt, the Baidnes
being taxed 25 per cent. On profits exceed_lng L5 pek
Cent. to 20 per cent. inclusive, 7 Per cent. is exempt,
Per cent. will be taxed 25 per cent. and the balance (I(l;)t
exceeding 5 per cent.) will be taxed 50 Per cent.S n
Profits exceeding 20 per cent., 7 P¢T cent. is exempt, },)e(;
cent, will be taxed 25 per cent., 5 P€r cent. will be.t?‘\e
50 per cent., and the remainder will be taxed 75 Pe! cent.
How this progressive tax works on the profits O‘f . cor?-
Pany with cdpital of $100,000, for example, 15 et
the accompanying table. ’

Capital employed includes (a)
of a company paid up in cash (or a f .
stock if issued against any other consideratl
(b) actual unimpaired reserves, Of accumula
An incorporated company’s capital (plus unimp e
Sérye, rest or previously accumulated profits if ;15 rioa
Capital) existing at the beginning of the accounting p«z.on
is the basis for the allowance of the 7 P€T cent. exemption.
vides that the incre
aid by the perso
accounting Per

The tax, therefore,
mber of com-

amount of capital stock
a fair valuation of such
on than cash);
lated profits.
paired re-

ases in the
n owning
iod end-
will

The amended act pro
tax “‘shall be levied against and p
Such husiness for each and every
ng after December 31st, 1916'”

Cover most of the year 1916 for a large nufo N s e
Panies, hut those whose fiscal years confor '
: il , ; onal taxation during

Calendar year, will not pay the additi
the latter part of 1910. The tax apparet
for the full year for each company from t
the accounting period. Where the comp
January 31st, 1917, the tax commences
Ist, 1916. \

g In the original

€vied for three years upon th
dCcounting period (fiscal year)

ividends received from the stoC g

i the

COmpany taxed under the act, were not mclude(: mroﬁts
Profits faxed. Reasonable deductions from gross pProe

iati owed.
or depreciation, renewals, €tC:, were all

The periods during which the tax was payable upnfiﬁl-‘ b
t}}e old act were as f(;ll()W: Any company, firm or ]tWO
Vidual which was liable on July 15t 1916, to a tax (;ln e
O more accounting periods covering two years, lil € a-
COvering the first twelve months could be paid on ovetr;:s
Cr 1st, 1916, the tax covering the second twelve m’ont
o0 November 1st, 1917 ; and the third and last year's tax
2" November 1st, 1918. Interest at 7 Per cent. is charge-
%1€ on taxes in arrears. '
: The amended act applies t© all §n§0fp0rated Ci?f:j"
Panies or private firms to which the original act appiec:

atly is computed
he beginning of
any's year ends
from February

etroactive and to be
e net profits shown to any

after December 315t 1914.
k of any incorporated

act, the tax was I
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HOW THE NEW BUSINESS WAR TAX WORHKS ON PROFITS OF A COMPANY
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